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Twin Corresponding Sudoku IFREAETY,
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Twin Corresponding Sudoku consists of a pair of standard sudoku puzzles each with et r:!r- !

some starting digits. To get a complete solution for the twin puzzles, it is necessary FHes: 14 e

to solve each twin puzzle, but the complete solution of the twin puzzles will be =|:_ "-1'-l-:-|I i
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obtained by substituting the corresponding values of the digits from one twin "
sudoku into the other.
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Sudoku Today ( https://sudoku.today ) Newdoku ( https://newdoku.com )
Samurai Sudoku ( https://samuraisudoku.com ) Sudoku Puzzle ( https://www.sudokupuzzle.org )
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